F# (ARAIERR)

HARS : 20234/ PAGE : 1
BIEEE  —HIEER
B ISE 04 A 05H 06 A 0/H 08 A 09AH 104 118 128 01H 02A 03AR £EHE

—h% &E EMAIEBE (8) 30 31 30 31 31 30 31 29 31 31 29 30 364
Bl 7E B (B3 fE) 114 138 713 138 136 114 134 106 138 131 689 7133 8684
BEHIE ppm 0. 005 0.004 0.004 0. 003 0.003 0.004 0. 005 0. 006 0. 008 0. 008 0.007 0. 005 0. 005
1BRED &S E ppm 0.014 0.011 0.011 0.010 0.008 0.009 0.014 0.019 0.024 0.029 0.025 0.016 0.029
HIEHEDRSIE ppm 0.007 0.006 0. 006 0.004 0.005 0.005 0. 008 0.010 0.013 0.016 0.014 0. 008 0.016
1BFFEHEANO. 2ppm % &8 A =R 2K (¥ 1) 0 0 0 0 0 0 0 0 0 0 0 0 0
18RS E AY0. TppmEL_£0. 2ppmLL T O B FS £k (B D) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#5{EAY0. 06ppmZ #E A 7= B (8) 0 0 0 0 0 0 0 0 0 0 0 0 0
H F5{EAHY0. 04ppmLL _£0. 06ppmEL T D H 1 (8) 0 0 0 0 0 0 0 0 0 0 0 0 0

— % 15 BEMAIEBE (B2) 30 31 30 29 31 30 31 30 31 31 29 30 363
Bl 7E B (B3 FET) 114 1317 114 110 1317 116 138 112 138 136 691 130 8673
BEHIE ppm 0. 004 0.003 0. 004 0.003 0.003 0.003 0. 005 0. 006 0. 007 0.008 0. 006 0. 005 0. 005
IFRENRSIE ppm 0.018 0.013 0.013 0.009 0. 008 0.009 0.024 0.022 0.022 0.024 0.024 0.022 0.024
HEHEDRSIE ppm 0.007 0.006 0.006 0.004 0.005 0.004 0.008 0.010 0.012 0.015 0.013 0.008 0.015
1EFREMEAN0. 2ppm%& #8 % 1= BERE 4K (B3 fET) 0 0 0 0 0 0 0 0 0 0 0 0 0
1B REMEAN0. 1ppmil £0. 2ppmL T 0D B ] 21 (B3 fE) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#{EH0. 06ppm% 2 Z 1= A (8) 0 0 0 0 0 0 0 0 0 0 0 0 0
HE#HEAHY0. 04ppmLl L0. 06ppmEL T D BH £k (8) 0 0 0 0 0 0 0 0 0 0 0 0 0

— fi% =# EMAIEBE (8) 30 31 30 31 31 30 31 29 31 31 28 31 364
Bl 7E R R (BFFE1) 3 137 13 134 134 115 133 106 136 136 684 138 8679
BEHE ppm 0. 002 0. 002 0. 002 0. 001 0.002 0. 002 0. 002 0. 002 0. 002 0. 002 0. 002 0. 002 0. 002
IFRENRSIE ppm 0.009 0.009 0.004 0.004 0.006 0.005 0. 005 0. 008 0. 008 0.010 0.011 0. 009 0.011
HEHEDESIE ppm 0.004 0.003 0. 003 0. 002 0.002 0. 003 0. 003 0. 003 0.004 0.004 0. 005 0.005 0. 005
1BFREEAN0. 2ppm%& #8 X 1= BFRE &K (B3 FET) 0 0 0 0 0 0 0 0 0 0 0 0 0
1R EMEHY0. 1ppmEL E£0. 2ppmEL T D B fE] 5K (B3 FET) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#5{EAY0. 06ppmZ #E A 7= B (H) 0 0 0 0 0 0 0 0 0 0 0 0 0
HFEHEAY0. 04ppmLl L0. 06ppmEL T D B £k (8) 0 0 0 0 0 0 0 0 0 0 0 0 0




F# (ARAIERR)

HARS : 20234/ PAGE :2
BIEEE  —HIEER
B ISE 04 A 05H 06 A 0/H 08 A 09AH 104 118 128 01H 02A 03AR £EHE

—h% ZA BERAIEB# (8) 30 31 30 29 31 30 31 30 31 31 29 30 363
Bl 7E B (B3 fE) 113 1317 713 109 7139 713 136 112 137 137 688 131 8665
BEHIE ppm 0.004 0.003 0. 003 0. 003 0.003 0. 003 0.004 0. 005 0. 006 0.007 0. 005 0.004 0.004
1BRED &S E ppm 0.015 0.010 0.011 0.007 0.007 0.007 0.013 0.019 0.025 0.019 0.018 0.019 0.025
HIEHEDRSIE ppm 0. 006 0.005 0.005 0.004 0.004 0.004 0. 006 0. 009 0.011 0.012 0.012 0. 007 0.012
1BFFEHEANO. 2ppm % &8 A =R 2K (¥ 1) 0 0 0 0 0 0 0 0 0 0 0 0 0
18RS E AY0. TppmEL_£0. 2ppmLL T O B FS £k (B D) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#5{EAY0. 06ppmZ #E A 7= B (8) 0 0 0 0 0 0 0 0 0 0 0 0 0
H F5{EAHY0. 04ppmLL _£0. 06ppmEL T D H 1 (8) 0 0 0 0 0 0 0 0 0 0 0 0 0

— fix B BEMAIEBE (B2) 30 31 30 31 29 30 31 30 31 31 29 30 363
Bl 7E B (B3 FET) 113 1317 114 138 107 115 138 114 138 1317 691 129 8671
BEHIE ppm 0. 007 0. 006 0. 006 0. 004 0. 004 0. 005 0.008 0. 009 0.010 0.011 0.009 0. 007 0. 007
IFRENRSIE ppm 0. 031 0.023 0.020 0.015 0.011 0.022 0. 026 0.029 0.029 0.039 0.030 0.029 0.039
HEHEDRSIE ppm 0.012 0.010 0.010 0.007 0.007 0.009 0.012 0.015 0.017 0.019 0.017 0.012 0.019
1EFREMEAN0. 2ppm%& #8 % 1= BERE 4K (B3 fET) 0 0 0 0 0 0 0 0 0 0 0 0 0
1B REMEAN0. 1ppmil £0. 2ppmL T 0D B ] 21 (B3 fE) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#{EH0. 06ppm% 2 Z 1= A (8) 0 0 0 0 0 0 0 0 0 0 0 0 0
HE#HEAHY0. 04ppmLl L0. 06ppmEL T D BH £k (8) 0 0 0 0 0 0 0 0 0 0 0 0 0

— fi% =910 EMAIEBE (8) 30 31 30 31 29 30 31 30 31 31 29 30 363
Bl 7E R R (BFFE1) 114 137 114 138 708 115 138 111 138 136 687 129 8665
BEHE ppm 0. 006 0. 005 0. 005 0. 004 0. 004 0. 004 0. 006 0.007 0.007 0.008 0.007 0. 006 0. 006
IFRENRSIE ppm 0.029 0.024 0.015 0.014 0.011 0.015 0.022 0.022 0.024 0.029 0.025 0.027 0.029
HEHEDESIE ppm 0. 009 0. 008 0. 008 0.007 0. 006 0.006 0. 009 0.010 0.013 0.018 0.013 0.009 0.018
1BFREEAN0. 2ppm%& #8 X 1= BFRE &K (B3 FET) 0 0 0 0 0 0 0 0 0 0 0 0 0
1R EMEHY0. 1ppmEL E£0. 2ppmEL T D B fE] 5K (B3 FET) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#5{EAY0. 06ppmZ #E A 7= B (H) 0 0 0 0 0 0 0 0 0 0 0 0 0
HFEHEAY0. 04ppmLl L0. 06ppmEL T D B £k (8) 0 0 0 0 0 0 0 0 0 0 0 0 0




F# (ARAIERR)

HARS : 20234/ PAGE:3
BIEEE  —HIEER
B ISE 04 A 05H 06 A 0/H 08 A 09AH 104 118 128 01H 02A 03AR £EHE

—h% Ei#E BERAIEB# (8) 30 31 30 31 31 30 31 29 31 31 29 30 364
Bl 7E B (B3 fE) 113 1317 713 138 7139 713 134 105 138 138 689 132 8689
BEHIE ppm 0.004 0.003 0. 003 0. 002 0.003 0. 003 0. 003 0. 003 0.004 0.004 0. 006 0.004 0. 003
1BRED &S E ppm 0.020 0.020 0.015 0.013 0.009 0.011 0.016 0.020 0.019 0. 021 0.016 0.029 0.029
HIEHEDRSIE ppm 0.007 0.007 0. 006 0.004 0.005 0.005 0. 006 0. 005 0. 008 0.011 0.011 0. 009 0.011
1BFFEHEANO. 2ppm % &8 A =R 2K (¥ 1) 0 0 0 0 0 0 0 0 0 0 0 0 0
18RS E AY0. TppmEL_£0. 2ppmLL T O B FS £k (B D) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#5{EAY0. 06ppmZ #E A 7= B (8) 0 0 0 0 0 0 0 0 0 0 0 0 0
H F5{EAHY0. 04ppmLL _£0. 06ppmEL T D H 1 (8) 0 0 0 0 0 0 0 0 0 0 0 0 0

— % p BEMAIEBE (B2) 30 31 30 31 31 30 31 29 31 31 28 31 364
Bl 7E B (B3 FET) 113 1317 114 136 138 73 134 106 1317 136 683 138 8685
BEHIE ppm 0. 004 0.003 0.003 0. 002 0.003 0.003 0. 004 0. 005 0. 005 0. 006 0. 005 0. 004 0. 004
IFRENRSIE ppm 0.015 0.014 0.009 0.008 0.011 0. 008 0.014 0.019 0.018 0.032 0. 021 0.020 0.032
HEHEDRSIE ppm 0.006 0.006 0.005 0.004 0.004 0.005 0. 006 0.007 0.009 0.011 0.008 0.008 0.011
1EFREMEAN0. 2ppm%& #8 % 1= BERE 4K (B3 fET) 0 0 0 0 0 0 0 0 0 0 0 0 0
1B REMEAN0. 1ppmil £0. 2ppmL T 0D B ] 21 (B3 fE) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#{EH0. 06ppm% 2 Z 1= A (8) 0 0 0 0 0 0 0 0 0 0 0 0 0
HE#HEAHY0. 04ppmLl L0. 06ppmEL T D BH £k (8) 0 0 0 0 0 0 0 0 0 0 0 0 0

— fi% 4 EMAIEBE (8) 30 31 30 31 31 30 31 29 31 31 29 30 364
Bl 7E R R (BFFE1) 114 137 710 137 137 713 135 107 138 136 689 133 8686
BEHE ppm 0. 004 0. 004 0.003 0.003 0.003 0.003 0. 004 0. 004 0. 005 0. 005 0. 005 0. 004 0. 004
IFRENRSIE ppm 0.024 0.025 0.015 0. 021 0.014 0.023 0.017 0.019 0.022 0.029 0.018 0. 021 0.029
HEHEDESIE ppm 0.007 0. 006 0. 006 0. 005 0. 005 0. 005 0. 006 0.007 0.007 0. 009 0. 008 0.007 0.009
1BFREEAN0. 2ppm%& #8 X 1= BFRE &K (B3 FET) 0 0 0 0 0 0 0 0 0 0 0 0 0
1R EMEHY0. 1ppmEL E£0. 2ppmEL T D B fE] 5K (B3 FET) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#5{EAY0. 06ppmZ #E A 7= B (H) 0 0 0 0 0 0 0 0 0 0 0 0 0
HFEHEAY0. 04ppmLl L0. 06ppmEL T D B £k (8) 0 0 0 0 0 0 0 0 0 0 0 0 0




F# (ARAIERR)

HARS : 20234/ PAGE : 4
BIEEE  —HIEER
B ISE 04 A 05H 06 A 0/H 08 A 09AH 104 118 128 01H 02A 03AR £EHE

—h% W/ BERAIEB# (8) 30 31 30 31 31 30 31 29 31 31 28 31 364
Bl 7E B (B3 fE) 113 138 115 136 137 713 135 106 135 135 682 136 8681
BEHIE ppm 0. 005 0. 005 0.004 0. 003 0.003 0.004 0.004 0. 005 0. 006 0. 006 0. 005 0.004 0. 005
1BRED &S E ppm 0.016 0.016 0.009 0.007 0.008 0.008 0.014 0.020 0.017 0.020 0.018 0.015 0.020
HIEHEDRSIE ppm 0.008 0.007 0. 006 0.005 0.005 0.005 0. 006 0. 008 0.010 0.014 0.011 0. 007 0.014
1BFFEHEANO. 2ppm % &8 A =R 2K (¥ 1) 0 0 0 0 0 0 0 0 0 0 0 0 0
18RS E AY0. TppmEL_£0. 2ppmLL T O B FS £k (B D) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#5{EAY0. 06ppmZ #E A 7= B (8) 0 0 0 0 0 0 0 0 0 0 0 0 0
H F5{EAHY0. 04ppmLL _£0. 06ppmEL T D H 1 (8) 0 0 0 0 0 0 0 0 0 0 0 0 0

— % =Fs BEMAIEBE (B2) 30 31 30 29 31 30 31 30 31 31 29 30 363
Bl 7E B (B3 FET) 113 138 114 108 139 114 140 114 138 135 689 132 8674
BEHIE ppm 0.003 0.003 0.003 0. 002 0.003 0.003 0. 004 0. 005 0. 006 0. 006 0. 005 0. 004 0. 004
IFRENRSIE ppm 0.010 0.008 0.008 0.007 0.007 0. 008 0.010 0.019 0.017 0.016 0.015 0.011 0.019
HEHEDRSIE ppm 0.005 0.004 0.005 0.004 0.004 0.004 0. 006 0. 009 0.010 0.010 0.011 0. 006 0.011
1EFREMEAN0. 2ppm%& #8 % 1= BERE 4K (B3 fET) 0 0 0 0 0 0 0 0 0 0 0 0 0
1B REMEAN0. 1ppmil £0. 2ppmL T 0D B ] 21 (B3 fE) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#{EH0. 06ppm% 2 Z 1= A (8) 0 0 0 0 0 0 0 0 0 0 0 0 0
HE#HEAHY0. 04ppmLl L0. 06ppmEL T D BH £k (8) 0 0 0 0 0 0 0 0 0 0 0 0 0

— fi% = EMAIEBE (8) 30 31 30 29 31 30 31 30 31 31 29 30 363
Bl 7E R R (BFFE1) 3 139 115 10 138 716 139 115 136 135 690 132 8678
BEHE ppm 0.003 0. 002 0. 002 0. 002 0.002 0. 002 0.003 0. 004 0. 005 0. 005 0. 004 0.003 0.003
IFRENRSIE ppm 0.011 0.008 0.009 0.006 0.007 0.006 0.011 0.013 0.014 0.016 0.019 0.013 0.019
HEHEDESIE ppm 0. 006 0.004 0.004 0. 003 0.003 0. 003 0.004 0. 006 0. 008 0. 008 0.010 0.005 0.010
1BFREEAN0. 2ppm%& #8 X 1= BFRE &K (B3 FET) 0 0 0 0 0 0 0 0 0 0 0 0 0
1R EMEHY0. 1ppmEL E£0. 2ppmEL T D B fE] 5K (B3 FET) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#5{EAY0. 06ppmZ #E A 7= B (H) 0 0 0 0 0 0 0 0 0 0 0 0 0
HFEHEAY0. 04ppmLl L0. 06ppmEL T D B £k (8) 0 0 0 0 0 0 0 0 0 0 0 0 0




F# (ARAIERR)

HARS : 20234/ PAGE:5
BIEEE  —HIEER
B ISE 04 A 05H 06 A 0/H 08 A 09AH 104 118 128 01H 02A 03AR £EHE

—h% R BERAIEB# (8) 30 31 30 29 31 30 31 30 31 31 29 30 363
Bl 7E B (B3 fE) 114 138 713 110 136 114 138 112 136 136 689 132 8668
BEHIE ppm 0. 003 0.002 0. 002 0. 002 0.002 0.002 0. 003 0. 004 0.004 0. 005 0. 004 0.003 0. 003
1BRED &S E ppm 0.011 0.008 0. 006 0.005 0.009 0.009 0.010 0.012 0.020 0.028 0.016 0.012 0.028
HIEHEDRSIE ppm 0. 005 0.004 0.004 0.004 0.004 0.004 0. 004 0. 005 0. 007 0.008 0. 007 0. 005 0. 008
1BFFEHEANO. 2ppm % &8 A =R 2K (¥ 1) 0 0 0 0 0 0 0 0 0 0 0 0 0
18RS E AY0. TppmEL_£0. 2ppmLL T O B FS £k (B D) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#5{EAY0. 06ppmZ #E A 7= B (8) 0 0 0 0 0 0 0 0 0 0 0 0 0
H F5{EAHY0. 04ppmLL _£0. 06ppmEL T D H 1 (8) 0 0 0 0 0 0 0 0 0 0 0 0 0

Bk £E BEMAIEBE (B2) 30 31 30 31 29 30 31 30 31 31 28 31 363
Bl 7E B (B3 FET) 114 1317 114 137 706 114 1317 110 138 136 683 135 8661
BEHIE ppm 0. 006 0. 005 0. 006 0. 005 0. 004 0. 005 0. 006 0. 008 0.010 0.010 0.008 0. 007 0. 007
IFRENRSIE ppm 0.021 0.018 0.015 0.017 0.010 0.022 0.024 0.024 0.029 0.029 0.025 0. 060 0. 060
HEHEDRSIE ppm 0.010 0.008 0.008 0.008 0.006 0.008 0.010 0.013 0.015 0.019 0.015 0.015 0.019
1EFREMEAN0. 2ppm%& #8 % 1= BERE 4K (B3 fET) 0 0 0 0 0 0 0 0 0 0 0 0 0
1B REMEAN0. 1ppmil £0. 2ppmL T 0D B ] 21 (B3 fE) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#{EH0. 06ppm% 2 Z 1= A (8) 0 0 0 0 0 0 0 0 0 0 0 0 0
HE#HEAHY0. 04ppmLl L0. 06ppmEL T D BH £k (8) 0 0 0 0 0 0 0 0 0 0 0 0 0

BHE BIRLG EMAIEBE (8) 30 31 30 31 29 30 31 30 31 31 29 30 363
Bl 7E R R (BFFE1) 3 138 12 138 707 713 138 13 137 136 688 126 8659
A¥5{E ppm 0.015 0.013 0.013 0.009 0.007 0.010 0.015 0.018 0.018 0.018 0.015 0.015 0.014
IFRENRSIE ppm 0.045 0.042 0.045 0.038 0.028 0.039 0.043 0.048 0.053 0.044 0.047 0.043 0.053
HEHEDESIE ppm 0.023 0.020 0.026 0.018 0.011 0. 021 0.024 0.025 0.028 0. 026 0.027 0.025 0.028
1BFREEAN0. 2ppm%& #8 X 1= BFRE &K (B3 FET) 0 0 0 0 0 0 0 0 0 0 0 0 0
1R EMEHY0. 1ppmEL E£0. 2ppmEL T D B fE] 5K (B3 FET) 0 0 0 0 0 0 0 0 0 0 0 0 0
B FE#5{EAY0. 06ppmZ #E A 7= B (H) 0 0 0 0 0 0 0 0 0 0 0 0 0
HFEHEAY0. 04ppmLl L0. 06ppmEL T D B £k (8) 0 0 0 0 0 0 0 0 0 0 0 0 0




